SREILLRXE| Jdt =25 100m 5 | ml  FX [ 12.32¢ ¥ E | BEEBS | 1 [+0.7%
SRELRZE| R =25 100m 6 | ZH K| 12.42¢ ¥ = RS 2 | +0.7%
SRELRZE| R =25 100m 3 | Bk FE3 | 1173« ¥ E | tR&EES | 3 [+0.7% Q
SRELRZE| R =253 100m 1 | =ik BE—BR| 11.61% ¥ E FES 3 | +0.7% Q
SRELRRE| kR =8 100m 2 g g 11.64% ¥ FE| LRSS | 1 [+0.7% Q
SRELREE| kR =8 100m 4 | \K BE | 1221% T & I 3 |[+0.7%
SRELREE| kR =8 100m 7 | &K BE&E | 12.73% ¥ E| BIES 3 |[+0.7%
SRELRZE| R =253 100m 8 | 2R EMA [ 1461x ¥ = B 1_|+0.7%
SRELRZE| R =253 100m 7 | NE T | 13.33 ¥ E MRS 1 | +1.3%
SRELRZE| R =253 100m 5 | Big i [ 1244 ¥ E| BiIFEs 2 | +1.3%
SRELRZE| R =253 100m 4 | BT 5K | 12.05% ¥ E| EREES | 2 [+1.3% q
SRELRZE kR =253 100m 1 | 1B BE | 11.43% ¥ #E| tRId= | 3 [+1.3% Q
SRELLREE| LR =253 100m 2 E S 11.65% ¥ E [HBEEsyES]| 3 [+1.3x Q
SAEGRZE| R =253 100m 3 Sl B 11.82% ¥ E | tR&EES | 2 [+1.3% Q
SRELRZE kR =253 100m 6 =ik K 12.75% ¥ E | BEEBS | 2 [+1.3%
SRELLREE| LR =253 100m 8 | A&t K= [ 13.49% ¥ E RS 1 [+1.3%
SRELREE] Jdb =253 100m 8 | AL At [ 13.19% ¥ E EXIT= 3 [ -1.1%
SRELRZE kR =5 100m 7 | {EBR XE | 12.79% ¥ E OIS 1 [-1.1%
SRELRZE kR =5 100m 3 | BTH &KX 12.02% ¥ #E| tRId=s | 3 [-11% Q
SAELRZE| LR =58 100m 1 | WA &K 11.60% ¥ & | INFFS 3 [-1.1x Q
SRELRZE kR =253 100m 2 | BF {E4 | 11.68% ¥ E| ERTES | 3 [-1.1% Q
SRELRZE kR =253 100m 4 HEF bE 12.08% ¥ = fES 2 [-1.1% q
SAELLRRE| LR =5 100m 6 |/ GEXER[ 1271 ¥ E([HWEBEYES| 1 [-11x
SRELRZE kR =253 100m 5 | BXR Xt | 12.13% ¥ = =ERS 3 |-1.1% q
SRELRZE kR =253 100m 4 | Tk EFX | 1263 ¥ = MRS 1 _|-0.1%
SRELRZE kR =253 100m Kig g DNS| ¥ & EXIT= 2

SAEREE| R =253 100m BE RA DNS| ¥ = | kR&ES [ 2

SRELRZE kR =5 100m 1 | & & 11.70% ¥ #E| tR#EES | 3 [-0.1% Q
SRELRZE| LR =253 100m 2 |EZ Bz 11.80% ¥ E| ERTES | 3 [-01% Q
SRELRZE kR =253 100m 3 | HE #AK | 12.30% ¥ E | tREES | 2 [-0.1% Q
ShaltBEXE| LB =L 100m 5 | b EXKER | 14.05% ¥ = RS 3 |-0.1%
SARELRZE| LR =253 100m 6 | K= #hth [ 1223 ¥ BEES 2 |+1.3%
EARERZE| bR =E: 100m 5 | BB B#g | 12.06% ¥ & B 2 |[+1.3% q
SRELRZE| LR =253 100m 3 | B+ HEBE | 11.68% ¥ E [HBEEsES]| 3 [+1.3% Q
SRELRZE| LR =253 100m 1 FEEES 11.45% ¥ E | HEEES | 3 [+1.3% Q
SELLREE LR =53 100m 2 | A FEH | 1151 ¥ & Edl 3 [ +1.3% Q
SRELRZE| LR =53 100m 4 |{kpE BB 11.89% ¥ E | tR#EES | 2 [+1.3% q
SELRRE LR =253 100m 7 | BB @A | 12.52% ¥ & HRS 1 [+1.3%
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SihELLRXE dt =58 100m 5 | IR i [ 12.44% ¥ = EI=T 3 | 0.0%
SRELRZE| R =25 100m 6 | Ak EER| 1251 ¥ E| tR#EES | 1 [ 00x
SRELRZE| R =25 100m 3 |tk Frzdv| 11.79% ¥ E| tRBEES | 3 [ 00% Q
SRELRZE| R =253 100m 2 | B &t | 11.68% ¥ E FES 3 | 0.0% Q
ShELLRXE| kR =58 100m 1 EHE K#E | 11.63% ¥ E| LRITXS | 3 | 0.0 Q
SRELRZE| R =253 100m 4 | FEE KX | 12.03% ¥ = BOIlS 2 | 0.0% q
SRELRZE| R =253 100m iR DNS| ¥ & RS 3

SRELRZE| R =253 100m 7 | R BEER [ 11.84% AR | LRMEES | 2 |-0.7x
SRELRZE| R =253 100m 8 | BFXR i [ 11.97% AR =ES 3 |-0.7%
SRELRZE| R =253 100m 1 FHEES 11.38% ZRE| BEEBS [ 3 [-07x Q
SRELRZE| R =253 100m 2 | EH X#E [ 11.39% ERB| tRITES [ 3 [-07% Q
SRELRZE kR =253 100m 4 | B Bt [ 11.56% AR FES 3 |-07%
SRELLREE| LR =253 100m 3 =l 11.49% R | RIS | 1 |-07x q
SRELLREE| LR =253 100m 5 |{EBE #Fzf| 11.65% RS LREES | 3 |-0.7x
SRELRZE kR =253 100m 6 | Esk B3 | 1173 AR | LREES | 3 | -0.7x
SRELRZE kR =253 100m 7 HME [E 11.87% AR FMES 2 | +1.0%
SRELLRZE| b =253 100m 6 | FE =K [ 1181 AR BAS 2 | +1.0%
SRELRZE kR =253 100m 3 | FEE &P | 1157 AR | LRMES | 3 | +1.0%
SRELRZE kR =253 100m 2 | A A 1141 AR RS 3 | +1.0% Q
SRELRZE kR =253 100m 5 |E% Bzt 11.72% ERE | ARITES | 3 |+1.0x
SAEGREE]| R =253 100m 1 | 12 BE [ 11.28% R | LR3I S | 3 [+1.0x Q
SRELRZE kR =5 100m 4 | % fB [ 11.66% ERE [ HBEEyrES|] 3 [+1.0%
SREILRTE| kR =253 100m 8 | HE #A | 12.19% ZER| LREES | 2 |+1.0x
SRELRXZE| kR =253 100m 5 | BT BHK [ 11.89% ER | LREES | 2 |+1.4%
SRELRZE kR =253 100m 8 | EE: BEEF | 12.12% AR BlS 2 | +1.4%
SRELRZE kR =253 100m 3 FH #E 11.51% R | MEmyrES| 3 | +1.4x% q
SRELRZE kR =253 100m 7 | #E#% E—BR| 1201 AR fES 3 | +1.4%
SRELRZE kR =25 100m eSS 11.32% EREB| NFFS 3 | +1.4x% Q
SRELRZE| LR =253 100m 1 P EHE | 11.31% AR LRTES [ 3 [+1.4% Q
SRELRZE| kR =253 100m 6 | BTH &KX 11.90% R kR s [ 3 [+1.4x%
SELLREE LR =253 100m 4 ENE: 11.65% RS | LREES | 2 | +1.4%
SELLREE LR =253 100m 7 EH =B 11.55% R | mEEEyES]| 3 [-11%
SARELRZE| LR =253 100m 8 =l 11.61% R OB kRl s | 1 [-11x
SELLREE LR =253 100m 1 | B BE | 11.35% RO | kBdeid s | 3 [-11x
SRELRZE| LR =253 100m 2 FEEES 11.36% RO | MEEES | 3 [-11%
SRELRZE| LR =53 100m 4 [ WX FXK 11.45% R B IIFES 3 [-1.1%
SRELRZE kR =53 100m 6 | P {4 | 11.52% R B EETES | 3 [-11x
SRELRZE kR =253 100m 3 | EH XiE [ 11.39% R KRTES | 3 [-11%




AW |

BE|>H9UR
SRELRXZE| R =25 100m 5 | #8N HFI [ 11.48% SRR

e

—1.1%

7 : R B 3
SRELRZE| R =2 100m iEE RKE DNS| ¥ = |[tREXFS| 2
SRELRZE| R =2 100m AL & DNS| ¥ ZE | tRITZES [ 2
SRELRZE| R =2 100m 3 | deih BiE | 14.35% ¥ E =ES 1 [-0.8% Q
SRELRZE| R =X 100m 1 A IEE | 12.67% ¥ E | tR&EES | 2 [-08% Q
SRELRZE| R =X 100m A FER DNS| % & MRS 2
SRELRZE| R =X 100m 2 |HAf BEEE[ 1427 ¥ E | tR#EES | 3 [-08% Q
SRELRRE| kR [SE:S 100m 4 | ®H T8 | 1541% ¥ = = 1 |-0.8%
SRELRZE| R =2 100m EH &% DNS| ¥ & FES 2
SRELRZE| R =2 100m 6 | M = | 16.01* ¥ = B 1 [-0.7%
SRELRZE| R =2 100m 5 | stH B3 | 15.25% ¥ = FES 2 _|-0.7%
SRELRZE kR 22X 100m 1 Kig & 13.97% ¥ E| kRS | 1 [-07% Q
SRELLREE| LR 22X 100m 3 RO =& 14.07% ¥ E =T 2 [-0.7% Q
SRELRZE kR 2% 100m 2 | &8 FEA [ 1404 ¥ E| tR#EES | 3 [-0.7% Q
SRELRZE kR =2 100m 4 [1EAK ZF| 1451% ¥ & BAS 1 [-07% q
SRELRZE kR 22X 100m 5 XE DNS| % & EES 2
2FELLRZE dt =X 100m hogN  FTE DNS| ¥ = | tEEES | 1
SRELLREE| LR 22X 100m 6 | EH &% | 16.96% ¥ = EXIT= 1 [-0.1%
SAEGRZE| R =2X 100m WA s DNS| ¥ & RS 1
SRELRZE kR 22X 100m 3 | v & | 13.90% ¥ E | MEmEsrEs]| 1 [-0.1% Q
SAEGREE]| R =X 100m 1 [ KR FEA | 1343« ¥ E | tR&EES | 3 [-0.1% Q
SRELRZE kR 22X 100m 2 | mBd FYH | 13.83% ¥ & BAlE 2 _|-0.1% Q
SRELRZE kR 2% 100m 4 | FikE IBE [ 14.18% ¥ = RS 2 [-0.1% q
SREILRTE| kR 22X 100m 5 | He ## | 15.03% ¥ E| BEEBS | 1 [-0.1x% q
SRELRZE| kR 22X 100m AF BE DNS| ¥ & FMES 2
SRELRXZE| kR 22X 100m EaRXRK XB DNS| ¥ # =ES 3
SRELRZE kR 2% 100m 5 | Xk ¥Th| 14.62% ¥ E| LEREES | 2 [-09% q
SRELRZE| kR 22X 100m 3 |IRE FER| 1451 ¥ E XSRS 1_]-0.9% Q
SRELRZE| LR 2% 100m 1 JUAt Ef | 13.63% ¥ = [#HBEEsES]| 3 [-0.9% Q
SRELRZE kR 22X 100m 2 | En B8 [ 13.98% ¥ E | HEEES | 3 [-09% Q
SRELRZE| LR 2% 100m 4 | FEXR FTh | 1455% ¥ = RS 3 [-0.9% q
SARELRZE| LR 2% 100m 6 | FZFH &7y [ 1573 ¥ E| ERTES | 2 [-09%
SRELRZE LR 22X 100m FE HE DNS| ¥ # BT 2
SRELRZE| LR 2% 100m HH E DNS| ¥ & | HEEBES [ 2
SRELRZE| LR 2% 100m 5 | #AE #m [ 15.76% ¥ E[HBEEsES]| 1 [+0.3%
SRELRZE| LR 2% 100m 4 [{EBE  IREY | 14.65% ¥ E | tR#EES | 1 [+0.3% q
SRELRZE| LR 2% 100m 2 |mEaHI=[ 13.92% ¥ = EES 3 |+0.3% Q
SRELRZE kR 2% 100m 1 K2 G# | 13.26% ¥ E|[ RIS | 1 [+0.3% Q
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AW |

S EIL R E| R B 100m 3 | XE BE | 14.28% HES +0.3% Q

7 a F &E 3
EifE RER| bR S 100m Ik fEfk DNS| ¥ & |t RExTFa| 2
SRELRZE| R =2 100m Ak BE DNS| ¥ & EES 1
SRELRZE| R =X 100m 3 | BBk HBE| 15.05% ¥ E| LREES | 1 | 0.0 Q
SRELRZE| R =2 100m Bl 55A DNS| % & MRS 2
SRELRZE| R =X 100m 8 BRF DNS| ¥ #E | kR = | 3
SRELRZE| R =2 100m 1 HA FE | 13.04% F E| tR&EES | 2 [ 00k Q
SRELRZE| R =2 100m 2 | Bk EFE | 14.39% ¥ = RS 2 | 0.0% Q
SRELRZE| R =X 100m INGFF B DNS| ¥ & BilE 3
SRELRZE| R =X 100m 8 | H™ #Efdk | 14.88% ZRE| BEEBS [ 1 [-01%
SRELRZE| R =2 100m 7 |tERK BF|[ 1463% AR BA= 1 [-0.1%
SRELREE| LR 22X 100m 4 | mEA/HTE[ 13.73% AR =ES 3 [-0.1%
SAEGRZE| R =2X 100m 1 | A ¥4&E | 12.90% AR | LREES | 2 | -0.1x Q
SRELRZE kR 22X 100m 3 | JIA E/R [ 1357 ERE [ HBEFErTES] 3 [-0.1x% q
SRELRZE kR 22X 100m 5 |Heg #FHEX| 14.27* AR | LRMEES | 3 | -0.1x
SRELRZE kR 22X 100m 6 |IRE ER| 14.46% AR RS 1 _|-0.1%
SiAEILERZE| dt [k S 100m 2 RO & 13.32% R EEE 2 [-0.1% Q
SRELRZE| R 22X 100m 7 | KF FETh | 1432 R | LREES | 2 | +1.9%
SAELRRE| LR [SE:S 100m 8 | A &5 | 14.34% HE R = 3 [+1.9%
SRELRZE kR =X 100m 2 | BKRX A [ 13.05% RS | LREES | 3 | +1.9% Q
SRELRXZE| kR 22X 100m 4 | S8 FA| 13.85% R LR#EES [ 3 [+1.9%
SRELRXZE| kR 2% 100m 1 RZ G# | 12.90% R | LRI E | 1 [ +1.9% Q
SRELRZE kR 2% 100m 3 | Emn FH [ 1317 RS | WBEEES | 3 | +1.9% q
SRELRZE kR 22X 100m 5 | deill F3E | 14.03% AR =ES 1 [+1.9%
SAEREE| R B2 100m 6 | XE Bx | 14.09% AR EIS 3 [+1.9%
SRELRZE kR 2% 100m 6 | i ¥ZE | 14.10% AR MRS 2 | +1.2%
SRELRXZE| kR 22X 100m 7 | kB IR [ 14.54% AR | LRMEES | 1 | +1.2%
SRELRXZE| kR 22X 100m 4 Kig 2 13.89% R | LRI E | 1 [ +1.2%
SRELRZE LR 22X 100m 2 | #Bd FYEH | 13.62% R BAlE 2 | +1.2% Q
SELLREE LR =2 100m 1 | BFZF FEE | 1251% R | LREES | 2 | +1.2% Q
SELLREE LR =2 100m 5 | Rk EZE | 14.05% R Edl 2 | +1.2%
SELLREE LR =2 100m 3 | e o& | 13.74% ERE | WMERyrES]| 1 | +1.2%
SAEREE| R a2 100m Fik BB DNS [ Rk | tREES [ 1
SELLREE LR =2 100m 7 | s BR[| 1371 RO EEmEyES]| 3 [+0.8%
SRELRZE| LR 2% 100m 5 | Zmn B8 [ 13.23% R MEEBES | 3 [+0.8%
SRELRZE| LR 2% 100m 2 | XA ¥A [ 1287 RO kRKRES | 2 [+0.8%
SRELRZE| LR =X 100m 4 [ TEKX FEAXA | 13.19% R OB kR&KRES | 3 [+0.8%
SRELRZE kR =2 100m 6 | KiF {Af | 13.26% R OB kRdd s | 1 [+0.8%




SxEILLRXE] Jdb =S 100m 1 A IEE | 12.51% tR&ZEES [ 2 |+0.8%
SRELRZE| R =X 100m 3 RO & 13.08% R EES 2 | +0.8%
SRELRZE| R =2 100m 8 | B FY+E [ 13.88% R BA= 2 | +0.8%
SRELRZE| R =253 200m 7 | FE ZHE [ 2661 ¥ = =S 1| +1.2%
SRELRZE| R =253 200m 5 | Bix tHF0 | 25.26% ¥ E| BiIFEs 2 | +1.2% q
SRELRZE| R =253 200m 2 | Bk B3 [ 2368 ¥ E | tR&EES | 3 [+1.2% Q
SRELRZE| R =253 200m 1 BiE_thsF | 23.56% ¥ = FES 2 | +1.2% Q
SRELRZE| R =253 200m 3 £k BX [ 23.98% ¥ = BEE 1 [+1.2% Q
SRELRZE| R =25 200m 4 | HE A [ 24.66% ¥ E HES 1 [+1.2% q
SRELRZE| R =253 200m 6 | FxFHE Fth [ 26.56% ¥ = RS 1| +1.2%
SRELRZE| R =253 200m WA $hth DNS| ¥ & | FFS 3

SRELRZE kR =25 200m 6 | LB BESk | 26.97x ¥ = EVII 1 [+1.2%
SRELRZE kR =253 200m 2 | B Eak | 24.76% ¥ E| ERTES | 2 [+1.2% Q
SRELRZE kR =253 200m 3 |/MFE ABth | 25.08% ¥ E | tR#EES | 3 [+1.2% Q
SRELRZE kR =253 200m [IIEETPS 24.32% ¥ E| NFFS 3 | +1.2% Q
SRELRZE kR =253 200m 2 Mk DNS| ¥ = | B35 | 2

SRELREE] Jdb =253 200m 4 | 1EBE XF | 25.39% ¥ E BAS 1 [+1.2% q
SRELRZE kR =25 200m 5 | BaH k| 25.73% ¥ E| BEEBS | 1 [+1.2%
SRELRZE kR =5 200m 4 | B B [ 2541% ¥ E RES 1 [+1.4%
SRELRXZE| LR =5 200m 3 | B 3Bt [ 24.19% ¥ = fES 3 | +1.4% Q
SRELRZE kR =5 200m 1 B 23.89% ¥ E [HEEyrES| 3 | +1.4% Q
SRELRZE kR =253 200m FEEES DNS| ¥ = | HE&EBES | 3

SRELLREE| kR =253 200m 2 ETTES 23.98% ¥ E | tR&EES | 2 [+1.4% Q
SRELRZE kR =253 200m EZH  EF DNS| ¥ & | {tB#BEE [ 1

SAELLRRE| LR =253 200m 5 | NE Fi% | 26.09% ¥ & RS 1 | +1.4%
SRELRZE kR =5 200m 7 =ik K 26.52% ¥ E | BEEBS | 2 [+2.2%
SAELRRE| LR =253 200m 4 | I\K BE | 24.12% ¥ & BAS 3 [+2.2% q
SRELRZE kR =25 200m 1 [ AN HBF | 2348« ¥ & XSRS 3 [ +2.2% Q
SELLREE LR =253 200m 2 | % HB | 23.74% ¥ E | HEEsrEs]| 3 [+2.2% Q
SRELRZE| kR =253 200m 3 | HTHE &KX 23.98% ¥ | tRids | 3 [+2.2% Q
SRELRZE| LR =253 200m 6 | TH f#5h [ 26.13% ¥ E | tREES | 1 [+2.2%
EARERZE| bR =23 200m 5 | BFXR Xth | 24.37% ¥ & RES 3 [+2.2% q
EARERZE| bR =5 200m INKR SRR DNS| ¥ = EX 3

SRELRZE| LR =253 200m k& Fz ot DNS| ¥ = | tEEES | 3

SRELRZE| LR =253 200m ZEik E—ER DNS| ¥ # FMES 3

SRELRZE| LR =53 200m 1 EME K#E | 2357% ¥ E| ERTES | 3 [+1.3% Q
SRELRZE| LR =53 200m 2 | EB BB [ 24.62% ¥ & BAlS 2 | +1.3% Q
SRELRZE kR =253 200m 4 B B 25.81% ¥ = BilE 2 | +1.3%




Sk

AR

SRSt EAR| dt =5 200m 3 | Tk EFF | 2539 ¥ = HERS 1 [+1.3% Q
SAERZA| LR [ &5 200m ME HE DNS| ¥ £ | #ils 3

sSREtEXA| R [ S5 200m 3 0 = 23.68% ¥ EZ | kEBEES [ 1 [+2.6% Q
=SRELEXA| R [ S5 200m 4 =H B 23.83% ¥ = | BEEsrES| 3 [+26¢ q
=SRELEXA| R [ S5 200m 2 |EZ Befr| 23.63 ¥ E| ARITES [ 3 [+26¢ Q
SRELRXE| R [ 55 200m 1 | K5 | 2343« ¥ = | kRHEBES [ 3 [+26% Q
SRELRXE| R [ 55 200m 6 | TAH WA | 26.61% ¥ = | kREES [ 2 [+26%
=SRELEXA| R [ S5 200m 5 | BB YA | 26.07% F E| RIS [ 1 |+26%
SAERZA] LR [ 55 200m 5 F=H = | 2404% R | HERSAS | 3 |+2.6%
ERELRXE| R | &5 200m 8 | Big {0 | 25.36% ERE | BIES 2 [+2.6%
sSRELEXA| R [ S5 200m 2 |EZ Ber| 23.30% R | ARIES | 3 [+2.6% Q
ERELRXA| KR | &3 200m 6 | BE: B | 24.46% ERE| oS 2 [+2.6%
ERELRZA| KR | &3 200m 3 [ WA &N | 23.46% ERE | IFES 3 [+2.6% q
SAERZA| LR [ 55 200m 1 | Ki5 4347 | 23.18% ERE| LRGBS | 3 |+2.6% Q
ERELRXE| R | &5 200m 7 | TH EHR | 2532« R | MRe 1 |+2.6%
SRELRXA| R [ S5 200m 4 N 23.68% MEREE | LBRES | 1 | +26%
SAEIt R AR b =25 200m 8 | ik X&F | 2561 R mRE 1 | +2.0%
SRELRXE| R [ 55 200m 6 | J\K FE | 24.24% EREE|  ERE 3 [+2.9%
SRELEXA| R [ S5 200m 1 | #8A FR#I [ 23.26% MR EiRe 3 | +2.9% Q
SRELEXA| R [ 55 200m 2 i B 23.28% HEREE | BEmy Ee | 3 | +2.0% Q
ERELRXE| R | &5 200m 3 | &k B3 | 23.30% Rk | LBE&GES | 3 | 2.9+ q
SRELRXH| R [ S5 200m 7 | &8 Bek | 24.76% R | ERTZS | 2 | +2.0%
ERELRXA| LR | &3 200m 4 | {k@E BRK | 2352« ERE| BES 1| +2.9%
BRELEXE] HE | S5 200m 5 | K uRth | 23.80% ERE | MBS 3 | +2.0%
SAERZA| LR [ 55 200m 5 | FR Xih | 2472 ERG | EES 3 [+0.7%
SRELRXH| R [ S5 200m 7 | A @A | 2502% R | BERe 1 _[+07%
ERELRXA| LR | &3 200m 1 | B8 #H=F | 23.03% ERE| FES 2 [+0.7% Q
SRR R [ S5 200m 2 | &KH KiE | 23.16% #ERE| EETES | 3 [+07% Q
SRELEXA| R [ 53 200m 3 | ## ZB | 23.53% R [ BEESEDS | 3 | +0.7*
EARELRZE| R | &5 200m TS DNS| #REs | LR#&ES | 2

SAERZA] LR [ S5 200m 6 | /NP ARt | 24.85% R | LRMEBE [ 3 [+0.7%
SRELEXE| R [ 53 200m 4 | BTH &K | 23.93% RS | kRdEFS | 3 | +0.7*
ERELRXA| LR | &5 200m 6 [ IUA &X | 23.40% W AR 3 | -08%
SRELEXE| R [ 53 200m 7 | Ek B3 | 23.42% RS | bR&EES | 3 | -08*
SRELEXE| R [ 53 200m 2 | EH KiE | 23.12% RS | LRI ZS | 3 |-08*
SRELEXA| R [ 53 200m 1 | B8 #h<F | 2264% R RES 2 _|-0.8%
SRELEXE| R [ 53 200m 3 | K& | 23.14% RS | kREES | 3 | -08*
ERELRXA] R | &5 200m 5 [N MRF | 23.29% El EXLS 3 | -0.8%




SxEILLRXE] Jdb =58 200m 8 i B 23.59% R | HEEEsES]| 3

SRELRZE| R =25 200m 4 [EZ BFBzir| 23.19% R OB KRTES | 3 [-08%
SRELRZE| R =X 200m %A BE DNS| % & EAS 1

SRELRZE| R =2 200m 4 | KF FTh| 30.64% ¥ E | tREES | 2 [-06%
SRELRZE| R =X 200m 5 | BR  Z=R ([ 30.96% ¥ E | tR#EES | 1 [-06%
SRELRZE| R =X 200m 2 |0 M&BEd([ 2952 ¥ E [(HBEEsES| 2 [-06% Q
SELLREE LR =X 200m 1 [mERHIT =] 29.09% ¥ E EES 3 | -0.6% Q
SRELRZE| R =X 200m 3 |FHA 7473 30.28% ¥ E | BEEBS | 2 [-06% Q
SRELRZE| R =2 200m 6 | ZFA &7y | 31.99% ¥ E| LRITES | 2 [-06%
SRELRZE| R =2 200m ME #E DNS| % & RS 2

SRELRZE| R =2 200m EL 2 DNS| ¥ & | tREES [ 1

SRELRZE kR 2% 200m 3 | Bk mEZE | 3091 ¥ E RS 2 | +0.3% Q
SRELRZE kR 2% 200m WA i DNS| ¥ E =T 2

SRELRZE kR 2% 200m 2 | Em FH [ 29.50% ¥ #E | BEEBS | 3 [+0.3% Q
SAEGREE| R =2 200m 1 5 BF 28.15% ¥ E | tR&EES | 2 [+0.3% Q
SRELRZE kR 22X 200m A FER DNS| ¥ & MRS 2

SiAEILERZE| dt [SE:S 200m 4 | 28 2ZE | 3462% T & ERS 1 [+0.3%
SRELRZE kR 2% 200m IRIE #MEF DNS| ¥ & RS 2

SRELRZE kR 2% 200m ¥ BE DNS| ¥ E FMES 2

SRELRZE kR =2 200m 5 | s MEZE [ 30.64% ¥ E| EREES | 2 [+1.1%
SRELRZE kR 22X 200m 4 | RE EHE[ 3048% ¥ E Edl 1 [+1.1%
SRELLREE| kR B2 200m 1 He Efh [ 28.34x ¥ E | tR&EES | 2 [+1.1% Q
SREILRTE| kR 5K 200m 2 | EE F=| 2859 ¥ E| LRHEEBES | 3 [+1.1x Q
SRELRZE kR 22X 200m 3 |BHO &= Fi[ 29.96% ¥ E| tREAE | 1 [+11% Q
SRELRZE| kR 2% 200m 6 | He 4 | 30.83% ¥ E | BEEES | 1 [+1.1%
SRELRZE kR 2% 200m FE HE DNS| ¥ & BEE 2

SRELRZE kR 2% 200m 5 | #Frk ¥E [ 3041 ¥ = MRS 2 | +0.9%
SRELRZE| kR 2% 200m 4 [dbih B3 | 29.95% ¥ = =ES 1 [+0.9% q
SRELRZE| LR 2% 200m 1 K2 G#d | 27.18% ¥ E| RIS | 1 [+0.9% Q
SRELRZE kR =5X 200m 2 | JEA EIE [ 28.07 ¥ = BEEES 2 | +0.9% Q
SRELRZE| LR 2% 200m 3 | #8K =g | 29.61 ¥ E [(HBEEsES]| 1 [+0.9% Q
SARELRZE| LR 2% 200m 6 | )i 5 | 3047% ¥ #E | tR#EES | 3 [+0.9%
SARELRZE| LR 2% 200m E¥ BH DNS| % & fES 2

SRELRZE kR 22X 200m CEES DNS| ¥ # E=rE 2

SELLREE LR =2 200m 3 | ke o& | 29.71x ¥ & | HEEFEyrEs]| 1 [+05% Q
SRELRZE| LR 2% 200m 1 BAR EA | 28.05% ¥ E | kR&HES [ 3 | +0.5% Q
SRELEXE| R [ S% 200m R RRF DNS| % | 84t | 3

SRELRZE kR 2% 200m 2 i #5 29.37% ¥ HRS 3 | +0.5% Q




A A E] dt =% 200m 4 |tEAAR BF] 3051 ¥ A= 1| +0.5%
ERELRXE| LR | &% 200m TH* BE DNS| ¥ =& HE= 2

SRELRXE| R [ S& 200m 7 |4l B3 | 29.85% ERE| a8 1 [+2.4%
SRELEXA| R [ % 200m 8 | A W3 | 30.15% ERE | ERS 2 | +2.4%
sSRELEXA| R [ S% 200m 1 | RiE Gk | 26.77% R | AREFS | 1 [+2.4x Q
SRELRXE| R [ S& 200m 5 P 85 29.31% ERE | ERS 3 [+2.4%
SRELEXA| R [ % 200m 2 | A BIE | 27.15% ERE| EES 2 [+2.4% Q
SRELRXE| R [ S& 200m 4 | Hg EH | 27.84% ERE | ARBES | 2 [+2.4x q
=RERXE| kR | S 200m 3 | 20 BH | 2758 R | MEEBS [ 3 [+2.4x% Q
ERELRXE| R | &% 200m 6 | tr#8 A& | 29.44x R | MEE S| 1 [ +2.4%
SRELEXA| R [ % 200m 7 | B0 BEZEFI| 29.90% R | RIS | 1 [+07x
=RELRXE| kR | S 200m 8 |FH& T473| 30.40% R | WMERES [ 2 [+0.7x
SRELRXE| kR | S 200m 2 | BAX ER | 27.91% R | AEBES [ 3 [+0.7x Q
ERELRXE| R | &% 200m 4 [ BE &HE| 2841% R | LRMEBE [ 3 [+07% q
=ERELRZA] LR | &% 200m 1 5 thF | 27.10% MR | LR&EBES | 2 [+0.7% Q
ERELRXE| R | &% 200m 5 [mERHITE| 29.26% R | aie 3 [+0.7%
EEEL R XA b BX | 200m [ 3 [iEW EHE[ 2828« R | WEmyEes| 2 |+07* Q
eAELRXE] kR [ S& [ 200m | 6 | #ik ZiE | 2049« R | WEmyES| 1 |+07%
sSRELEXA| R [ S% 200m IRETEEEINR R OB | ARHES | 3 | +1.8%
SRELEXA| R [ S% 200m 6 | HF X | 27.99% R B | LREES [ 2 | +1.8%
SRELRXA| R [ Sx 200m 1 S HF 26.46% R B | LEEES | 2 [+1.8%
ERELRIE| R | &% 200m 2 | YEN BIE | 26.96% R B RS 2 | +1.8%
SRELRXA| R [ Sx 200m 3 | Ri# {A#E | 27.27% R OB | kRIS | 1 | +1.8%
SRELRXA| R [ Sx 200m 4 | BXK ER | 2758 R B | LEEES | 3 [+1.8%
ERELRIE| R | &% 200m 5 | 2 FH | 27.70% R B | BEREBS | 3 | +1.8%
ESRELRIE| R | &% 200m Bl 1EE& DNS| & B |[MEEm~ RS ]| 2

ERELRXE| R | &5 400m 7 | HiE &K | 1:00.92% ¥ E ERS 1

SRELRXE| LR | S5 400m 5 | JIlIA #E | 57.33% ¥ E | EREES | 2 q
SRELEXA| R [ 53 400m 4 | &Il EE| 56.03% ¥ = | tEMBES | 3 Q
SRELEXE| R [ 53 400m 1 [A+E BEX| 5421% ¥ = | LBdid= | 3 Q
SAERZA] LR [ S5 400m 2 | AR RK | 54.31% ¥ E | BEmrbEs]| 3 Q
ERELRXA| LR | &5 400m 3 | Fl= &3 | 55.86% ¥ = RS 3 Q
SAERZA] LR [ S5 400m 6 | #1L IFfR | 5828 ¥ & | tEEES | 2 q
SAERZA] LR [ S5 400m ¥ EfE DNS| ¥ #£ | XiRS 3

SAERZA] LR [ 55 400m 7 _|B9#® #PUER| 1:06.35% ¥ E | MatBs | |

BRELEXE] HE | S5 400m 5 WAt & | 56.67* % & | LEEES | 1 a
ERELRXA| LR | &5 400m 3 | M EA | 55.81% ¥ = BB 2 Q
EAERZE R =23 400m 1 | #EAK #E[ 55.25% T Z | WEmrbEe| 3 Q




SihELLRXE dt =58 400m 2 | #XH = [ 55.43% ¥ E| tREZES | 3
SRELRZE| R =25 400m 4 | #HE A | 56.21% ¥ = RS 1
SAELRXZE]| R =8 400m 6 | &R Fth | 1:03.61% F E| RTES | 1
SRELRZE| R =253 400m HE = DNS| ¥ & FES 2
SRELRZE| R =253 400m hZE RE DNS| % ZE | tREIT%S [ 1
SRELRZE| R =253 400m 5 | JRF #& | 1:00.89% ¥ E| LtREES | 1
SRELRZE| R =253 400m FEEES DNS| ¥ = | HE&BES | 3
SRELRZE| R =253 400m 1 | FE  #E | 5450« ¥ = RS 3 Q
SRELRZE| R =253 400m 2 | am #®+ | 54.75% ¥ E | HMEEsrEs]| 3 Q
SRELRZE| R =253 400m 3 | /NEIRE B | 55.94% ¥ = FES 2 Q
SRELRZE| R =253 400m 4 | ¥ EBK | 56.26% ¥ = BA= 2 Q
SRELRZE kR =253 400m AR SEh DNS| ¥ &£ | BIES 3
SRELRZE kR =253 400m 6 | AR @t [ 1:03.74x ¥ & BEE 1
SRELRZE kR =253 400m 3 | ERA ([ 57.78% ¥ E | HEEES | 1 Q
SRELRZE kR =253 400m 1 =l 54.56% ¥ E| RIS | 1 Q
SRELRZE kR =253 400m g —& DNS| ¥ & Bl 3
2FELLRZE dt =253 400m H#0O At DNS| ¥ & FMES 3
SAEGREE| R =5 400m 2 | K8 LK | 56.56% ¥ E | kRES | 3 Q
SRELLREE| LR =253 400m 5 | A —E | 59.35% ¥ E| tR&EES | 2 q
SRELRZE kR =253 400m 4 i EX 58.66% ¥ E EXIT= 2 Q
SAEGREE]| R =253 400m 8 | #&FHME Fkth | 1:05.80% ¥ & XIRS 1
SRELRZE kR =253 400m 6 | KB BEAE [ 1:00.29% ¥ E| tREITES | 3
SAEGREE]| R =53 400m 2 | {kEE BE | 55.91% ¥ & BES 1 Q
SRELRZE kR =253 400m 4 | &#F K | 56.23% ¥ E BAS 3 Q
SRELRZE kR =253 400m 1 FHEH &L | 55.84% ¥ E| RIS | 2 Q
SRELRZE kR =253 400m 3 | 8N Im& [ 56.17x ¥ & MRS 3 Q
SRELRZE kR =253 400m 5 | @H  EH [ 59.46% ¥ E | tRHEES | 2
SRELRZE kR =25 400m 7 | F)I EEKR [ 1:03.33% ¥ = =ES 1
SAEREE| kR =253 400m 7 | A —E | 1:00.45% ERE | LR&EES | 2
SRELRZE| kR =5 400m 6 it REX 58.49% R BilE 2
SRELRZE| LR =253 400m 3 | #NH E [ 52.46% ER| LtREES [ 3 q
SRELRZE LR =253 400m FE &3 DNS | #£3R B RES 3
SAERZA] LR [ S5 400m 2 | AR RK | 52.16% R | EEmshEe | 3 Q
SRELEXE| R [ 53 400m 1 [A+E BK| 51.83% HEREE| XEJIFE | 3 Q
SRELRZE| LR =253 400m 4 | INEIR B | 54.42% R FMES 2 q
SRELRZE| LR =53 400m 5 | £F #BXK [ 5564 AR BAlE 3
ESRELRZE| R | &5 400m nH = DNS | #RES | LR#FES | 1
SRELRZE kR =253 400m 5 | 0 #E | 57.28% ZRE | LREES | 2
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400m
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55.10%

=T

=7 7 3 1
SRELRZE| R =25 400m 2 A g 54.62% ERE| LRI Ss | 1 Q
SRELRZE| R =25 400m 1 [{ERK #E| 5253+ ER | WMEmrES]| 3 Q
SRELRZE| R =253 400m 4 | KE JEK|[ 56.20% ZRE| LtREES [ 3
SRELRZE| R =253 400m 7 | # ERAK ([ 58.25% ERE| BEEBS | 1
SRELRZE| R =253 400m 6 | tHE @A | 58.08* AR MRS 1
SRELRZE| R =253 400m 5 | &% A | 56.79% AR BA= 2
SELREE LR =53 400m 6 | 21U IEf | 59.54% ERE | LRE&EES | 2
SRELRZE| R =253 400m #Hy X DNS | #ER M =ES 2
SRELRZE| R =253 400m 1 | &FE #®¥a | 53.01% AR RS 3 Q
SRELRZE| R =253 400m 2 | am #+ | 53.90% ER | WMEmrEs]| 3 Q
SRELRZE kR =253 400m 3 TH &L | 54.46% AR | RIS | 2
SRELRZE kR =253 400m Zlll BE DNS | R | JkRHBS [ 3
SRELRZE kR =253 400m 4 | 8% Im# | 55.42% AR MRS 3
SRELRZE kR =253 400m 7 | MNEE PR | 5441 R FMES 2
SAEGRZE| R =5 400m 4 | ¥XE 2 [ 52.35 A B tREES | 3
=g EXZER b =25 400m 1 [E+E K[ 5082« A OB RIS | 3
SRELRZE kR =253 400m 2 | AR ¥E | 51.75% R RS 3
SRELRZE kR =253 400m 5 |{fEA4<K #EfE| 53.15% R B | MEmEsES]| 3
SAEREE| R =58 400m 3 | WA [RK | 51.92% A B HWEmEsEs]| 3
SRELRZE kR =253 400m 6 wa g 54.26% R OB | LRSS | 1
SRELRZE kR =253 400m 8 [ sarm #+ | 57.09% R\ EEEsES]| 3
SRELRZE kR 22X 400m hogN  FTE DNS| ¥ = | tREEES | 1
SRELRZE kR 22X 400m 4 B0 #oZF| 1:09.13% ¥ E| RIS | 1
SAELLRRE| LR =X 400m 3 | AR &04E [ 1:08.00% ¥ E EEE 2 q
SRELRZE kR 22X 400m 1 20 B | 1:05.02% ¥ E | HEEES | 3 Q
SAEREE| R a2X 400m 2 | Bix ¥4 | 1:.07.08% ¥ #E| tR&ES | 3 Q
SRELRZE| kR 22X 400m 5 i | 1:10.13% ¥ E | EEsrES]| 3
SAERZA] LR [ X 400m 6 [#BA B3| 1:13.25% F E| AREES | |
BRELEXE] HE | SX 400m Bl 55A DNS| ¥ & | KRs 2
SRELRZE kR 22X 400m i HE DNS| ¥ # MRS 2
SAEEEE| R a2 400m 5 | hPE MEZFE | 1:11.53% ¥ E| tREEES | 2
SAERZA] LR [ X 400m 3 |iEi0 1KEE| 1.07.69% ¥ E | BEmrbhEs| 2 a
EAELRXAR| LR | &% 400m 1 | ¥ 8FE | 1.05.54% ¥ = EEE 2 Q
SAERZA] LR [ X 400m 2 | thiE HF3E]| 1.06.42% Y E| IREES | 2 Q
ERELRXA| LR | &% 400m 4 | A BE | 1:08.24% ¥ & | RIS [ 3
BRELEXE] R | SX 400m 6 | &% B | 11202k ¥ & | LEHBS | 2
SAERZA] LR [ X 400m 7 | Efh #EE | 1:17.39% ¥ E | BEEBs | |




SRELRXZE| R =2 400m EF ®WME DNS| ¥ & | tREES [ 1
SRELRZE| R =2 400m 4 [FHE T473] 1:09.57% ¥ E| BEEBS | 2
SRELRZE| R =X 400m 3 | A& X/ | 1:08.32% ¥ E| tR&EES | 2
SRELRZE| R =2 400m 1 | ERE &BZE| 1:04.25% ¥ E | tR#EES | 3 Q
SRELRZE| R =X 400m 2 | =fk BHZ | 1:.05.88% ¥ E| RS s | 2 Q
SARELEXZE]| R a2X 400m 5 | Hhft BE&E | 1:13.55% ¥ & Bl 3
SRELRZE| R =2 400m A FER DNS| % & MRS 2
SRELRZE| R =2 400m 6 | #i B0 | 1:16.88% ¥ = =ES 2
SRELRZE| R =2 400m WA FNEE DNS| & B EI=T 2
ShELLRXE| kR =X 400m 7 | B KB | 1:09.20% R\ EEEsrES]| 2
SRELRZE| R =X 400m 2 | JEA EBIE [ 1:.02.57% RO BEE 2
SREGREE| R =2 400m 1T | FR AHE| 1:02.31* R B tRmEs | 3
SAEGRZE| R =2X 400m 4 | =ik BEE | 1:04.19% R OB kRIds | 2
SRELRZE kR 22X 400m 3 | 2m 3 | 1:03.39% R | MEEBS | 3
SRELRZE kR 22X 400m 6 | hix HFIFE| 1:06.57% R ERRES | 2
SRELRZE kR 22X 400m 5 | Big ¥4 [ 1:06.05% RO ERKRES | 3
2FELLRZE dt =253 800m 4 | KK Fth | 2:15.65% ¥ = RS 1
SRELRZE kR =253 800m 6 | F)I X | 2:18.91% ¥ E RS 1
SAEGRZE| R =5 800m 1 | FR 5 | 21407 ¥ & RS 3 Q
SAEREE| R =5 800m 3 | X% g5 | 2:14.55% ¥ E| tR&ES | 3 Q
SRELRZE kR =253 800m 2 |piA ZEXER[ 2:14.31% ¥ E| RIS | 2 Q
SRELRZE kR =253 800m B2 BE DNS| ¥ = | tEEES | 2
SRELRZE kR =253 800m NG R DNS| ¥ & | ;tR4Bs [ 1
SRELRXZE| kR =253 800m 5 | B =K [ 2:17.87% ¥ E | HEEsrEs]| 1
SRELRZE kR =253 800m 8 | 1k HHt | 2:33.12% ¥ = EXIT= 1
SRELRZE kR =253 800m 6 | BIE &KX [ 2:19.96% ¥ = MRS 1
SAEREE| R =53 800m 2 BR[| 216.15% ¥ & EES 3 Q
SRELRZE kR =25 800m 3 A #E | 2:16.21% ¥ E| LtREES | 1 Q
BRELEXE] HFE | S5 800m 1 #ié Ml | 2:15.96% ¥ & | BB | 3 Q
SRELRZE kR =253 800m 5 | £H EBE | 219.17% ¥ E| tRETES | 2
SRELRZE| LR =253 800m 7 | AE KXZF [ 2:22.97x F E| BIES 1
SRELRZE LR =253 800m 4 [EF  #Eth | 2:16.29% ¥ E| tR#HES | 3
SRELRZE LR =253 800m B &t DNS| ¥ & FMES 3
SRELRZE| LR =253 800m 6 s oiEA | 2:22.10% ¥ = EXIT= 2
SRELEXE| R [ 53 800m 2 | Rk AT | 212.12% ¥ = | tBidids | 2 Q
SAERZA] LR [ 55 800m 1 | &8 IH% | 2:11.86% ¥ E | HRe 3 Q
SRELEXE| R [ 53 800m 3 | RE KK | 2:1234% ¥ = | tEMBEs | 3 Q
SAEtRZA] LR [ &5 800m 4 [tEAK BE]| 2:1284% ¥ & | tEmEs | 2 q




SREILLRXE| Jdt =25 800m 5 | &FA &K [ 2:14.84% ¥ E | HEEsrEs]| 1
SRELRZE| R =25 800m 7 | &% HEE| 223.15% ¥ = RS 1
SRELRZE| R =25 800m B R DNS| % & EAS 1
SRELRZE| R =253 800m 6 | AR SEth [ 2:28.05% ¥ E| BIES 3
SRELRZE| R =253 800m 3 | WA BX [ 2:14.14% ¥ E | #MEEsrEs]| 3 Q
SRELRZE| R =253 800m 1 RIE FEd] | 2:13.91% ¥ E| tR&RES | 2 Q
SRELRZE| R =253 800m 2 B ORHE | 2:14.06% ¥ = FES 3 Q
SRELRZE| R =253 800m 4 | K# BF | 21439« ¥ E| ERITZES | 1
SELLREE LR =253 800m 5 | AR HZE | 217.01% ¥ E BilE 2
SRELRZE| R =253 800m W wE DNS| ¥ = | HEEBS | 1
SRELRZE| R =253 800m Hix #E DNS| ¥ E | HIFEg 2
SREGREE| R =253 800m 4 A% E | 2:13.95% ¥ E | tRE&ES | 1
SRELRZE kR =253 800m 3 | B BEX [ 21263« ¥ E RS 2 Q
SAEGRZE| R =253 800m 1 | F8 S| 2:11.62% ¥ & RS 3 Q
SRELRZE kR =253 800m 2 | W #RAE [ 2:11.85% ¥ E| ERITES | 1 Q
SRELRZE kR =253 800m 6 | s & [ 2:16.35% ¥ E| RIS | 2
2FELLRZE dt =253 800m 5 | HO #X [ 2:14.67% ¥ E FMES 2
SRELRZE kR =253 800m 7 | # ERAK [ 2:16.46% ¥ E | HEEES | 1
SRELRZE kR =253 800m 6 | K¥ B35 | 2:13.04% ZERE | LRE&EES | 3
SAEILEXZER| R =5 800m 7 [#EAK ARE| 2:16.01% ERp| tEEES | 2
SAEGREE]| R =253 800m 1 [ F¥ THE | 2:05.80% AR XSRS 3 Q
SRELRZE kR =253 800m 8 Zam Wl | 2:21.60% ERE | BHEEBS [ 3
SRELRZE kR =253 800m 5 B OAH | 2:10.28% AR FMES 3
SRELRZE kR =253 800m 3 | T #RFE [ 2:06.15% ERp| ERITES | 1 Q
SRELRZE kR =253 800m 4 | #n EX | 2.08.15% AR =ES 2
SAEGREE]| R =5 800m 2 | BiiEA FEXER| 2:05.82% ERE | LRI s | 2
SRELRZE kR =253 800m 7 | WA EX [ 2:08.69% ERE | WMEmyrES]| 3
SRELRZE kR =25 800m 4 A #E | 2:05.66% EREB| LREEXS | 1 q
SRELRZE| LR =253 800m 5 | R3E 7 [ 2:06.54% R LRE&KES [ 2 q
SRELRZE kR =253 800m 1 ®iE £F | 2:02.42% E A EET - I Q
SELLREE LR =253 800m 2 | ZRRE 1A | 204.42% R XSRS 3 Q
SARELRZE| LR =253 800m 6 | 12+ E&H | 207.11% R MRS 3
ERELRXA| LR | &5 800m 3 K % | 2:05.07% R | aRe 3 Q
SAERZA] LR [ S5 800m 8 |AE JLK]| 21143+ #RpE | LRGBS | 3
SAERZA] LR [ 55 800m 8 | RE FEW | 2:12.69% R BB | LREES | 2
SRELRZE| LR =53 800m 7 WA #8 | 2:06.03% R B LREES | 1
SRELRZE| LR =53 800m 4 [@IE ZFEARER| 2:05.28% R OB RS s | 2
SRELRZE kR =253 800m 2 | #®#E £= | 2.03.98% R OB kBRI E | 2




SxEILLRXE] Jdb =58 800m 1 | &R #%E | 1:59.97% ESLA 3
SRELRZE| R =25 800m 6 | FE FEE | 2:05.56% R RS 3
SRELRZE| R =25 800m 3 ]/ 22 | 2:05.03% R =S 3
SRELRZE| R =253 800m 5 | WU #B#F | 2:05.44% R KBRITES | 1
SRELRZE| R =2 800m fEk EbH DNS| % & EEES 2
SRELRZE| R =2 800m EH i DNS| ¥ & | tR&EES | 1
SRELRZE| R =2 800m 1 XA TEE | 2:38.32% ¥ E | #MEmEsrEs]| 3
SRELRZE| R =2 800m 2 | & ##7H | 2:38.50% ¥ E =ES 3
SAELREXE]| R a2X 800m 6 | LA =F | 2:5551% F E| RIS | 2
SRELRZE| R =X 800m 4 [ZE FTH| 2:42.25% ¥ E| LtRHEES | 1
SRELRZE| R =2 800m 3 |FFE ;=] 2:40.11% ¥ E| LREES | 2
SRELRZE kR 22X 800m 5 |FA T47 3] 2:45.09% ¥ E | HEEES | 2
SRELRZE kR 22X 800m B2 ALH DNS| ¥ & BES 1
EARERXE| R kS 800m 6 | AR EKiE| 3:54.30% ¥ E | #MEEES | 3
SRELRZE kR 22X 800m 1 [ iR HFE | 2:34.54% ¥ E| tREES | 2
SRELRXZE| LR 22X 800m 3 | EH =ErE | 2:36.16% ¥ E| tR#HES | 3
SiAEILERZE| dt [SE:S 800m 5 | Tk =3 [ 248.10% ¥ & RS 3
SRELRZE kR 2 800m 2 | 9&%  RRH | 2:35.36% ¥ E RS 1
SRELRZE kR =2 800m 4 | fA¥ FE | 245.78% ¥ E | HEmEsrEs]| 1
SRELRZE kR =2 800m hf HE DNS| ¥ = | tEEES | 2
SRELRZE kR 2% 800m 4 | HN EE | 255.47% ¥ E | BEEBS | 1
SRELRZE kR 2% 800m 5 | 4@ 20 | 2:55.72% ¥ E RS 2
SRELRXZE| kR 22X 800m HA DNS| ¥ #E | B35 | 3
SRELRZE kR B2 800m 1| 5 fiFE | 2:34.11% ¥ E| LtRHEES | 2
SAELLRRE| LR 22X 800m 3 st 2 2:49.10% ¥ = FES 3
SRELRXZE| kR 22X 800m 6 | X &4 | 3:18.08% ¥ = EXIT= 3
SRELRXZE| kR 22X 800m 2 | AIE B8 [ 2:47.28% ¥ = | WBEmsbEa| 1
SRELRXZE| kR 22X 800m Big XM DNS| ¥ # MRS 1
SRELRZE| LR 2% 800m 5 | EE  =rE | 2:33.21% R B | tREES | 3
SRELRZE| kR 2% 800m 8 |FE M= | 2:40.52% R B tREES | 2
SRELRZE| LR 2% 800m 7 | BF%  RRE | 2:35.77% R OB RS 1
SELLREE LR =2 800m 1 | K& FEE [ 2:21.81x R B HWEmEsEs]| 3
SAERZA] LR [ X 800m 2 |hig fHF[R] 2:27.27% R BB | LREES | 2
SRELRZE| LR 2% 800m 4 | HF  #ZE | 2:31.53% R B | tREES | 2
SELLREE LR =2 800m 6 | BIE #HE | 2:34.99% R | EEEyES]| 1
SRELRZE| LR 2% 800m 3 | # #ETh | 2:29.76% R B EES 3
SRELRZE| LR =53 1500m AR #3 DNS| ¥ = | tR#HBES | 2
BRELEXE] R | S5 1500m | 13 [ #fH AZF | 4:55.24% ¥ & | BlEkg | 1




SRELREE| d =8 1500m 14 | #H &FIE [ 455.87% ¥ E| LtREES | 1
SRELRZE| R =25 1500m 15 AX#H R | 5:00.20% ¥ E RS 3
SRELRZE| R =25 1500m 3 | FF¥r FEE | 4:31.26% ¥ E RS 3 Q
SRELRZE| R =25 1500m 7 @Ak 22 | 4:31.58% ¥ = =ES 3 Q
SRELRZE| R =25 1500m 6 | XFF A [ 431.46x ¥ E | HMEEsrEs]| 2 Q
SRELRZE| R =253 1500m 1 EZ & | 43099 ¥ E| tRIds | 2 Q
SRELRZE| R =25 1500m 2 | E2 & | 431.11% ¥ E | HMEEsrEs]| 2 Q
SRELRZE| R =25 1500m 4 [ KIE BB | 4:31.32% ¥ E | tR&EES | 3 Q
SRELREE| kR =8 1500m 8 | /MNEERE EE | 4:31.79% ¥ & FES 3 q
SRELRZE| R =25 1500m 5 | ¥ HEfE | 4:31.41% ¥ E RS 3 Q
SRELRZE| R =253 1500m 10 Zdm Wl | 4:40.97% ¥ E | BEEBES | 3 q
SRELRXZE| LR =253 1500m 9 | % &KX | 44072% ¥ = BAS 2 q
SRELRZE kR =253 1500m 1| AR HF | 446.45% ¥ E EVII 2
SRELRZE kR =253 1500m A BE DNS| ¥ ZE | tERITEXS | 2
SRELRZE kR =253 1500m 16 | 1kBk FH | 5:22.23% ¥ = BilE 1
SihEltBEXE| LB =25 1500m 12 | HO #HX | 449.71% T & HES 2
SAEILEXZER| dt =23 1500m [ 17 | o[ SEth | 5:23.19% F E| BIFES 3
SRELRZE kR =253 1500m aE —& DNS| ¥ & BAS 3
SRELRZE kR =253 1500m Fx BA DNS| ¥ # | FFS 3
SRELRZE kR =253 1500m B EXE DNS| ¥ # | BlIES 3
SRELRZE kR =253 1500m BIE %8 DNS| ¥ & EXIT= 2
SRELRXZE| kR =253 1500m ATES DNS| ¥ = | tEEES | 3
SRELRZE kR =253 1500m 14 | #FHH B [ 450.10% ¥ = =ES 2
SAEGREE]| R =E: 1500m 11 [ PHE KF | 444.46% ¥ E | kRIS | 3
SRELRZE kR =253 1500m 6 |1ERK #1 | 43251% ¥ E Edl 3 Q
SRELRZE kR =253 1500m 1 B2 Z— | 4:30.36% ¥ E| tREES | 3 Q
SRELRZE kR =253 1500m 5 & B | 4:3248% ¥ E =ES 3 Q
SRELRXZE| kR =25 1500m 2 | % £ZF [ 430.80% ¥ E| RIS | 2 Q
BRELEXE] HFE | S5 1500m | 3 [FA Juik | 431.91* P E| LREGS [ 2 Q
BRELEXE] HE | S5 1500m | 4 | Bk F=X | 4:32.14% % & | LERES | 2 Q
SRELRZE| LR =5 1500m 13 [/ME1I0 Kih([ 4:49.93x ¥ E | HEEsrEs]| 1
SRELRZE LR =253 1500m 7 | & #E [ 433.29% ¥ E| LtR&RES | 1 Q
SARELRZE| LR =253 1500m 8 B KM | 4:37.60% ¥ FMES 3 q
SRELRZE| LR =253 1500m 9 | KK Fth [ 443.12x ¥ E MRS 1
SRELRZE kR =253 1500m 15 | #H #E | 450.85% ¥ E| tRETES | 2
ERERZE| bR =23 1500m B IRE DNS| ¥ & BRS 3
EARERZE| bR =23 1500m 10 | AKX $hth | 4:43.40% % E| IFiEs 3
ERELRXA] R | &5 1500m | 12 | #xff BH [ 4:48.31% ¥ E| BEEES | 1




2EELRZE dt =25 1500m o BE DNS| % = [ kR4S [ 2
SRELRZE| R =253 1500m ITEEZRS DNS| ¥ Z | tRITZES [ 2
SRELRZE| R =25 1500m £F BKX DNS| ¥ & BA= 3
SRELRZE| R =253 1500m TH & DNS| ¥ & | FFS 3
SRELRZE| R =253 1500m TV DNS| ¥ & | #HxEEs | 1
SRELRZE| R =25 1500m 2 | E8 & | 411.67% R\ EEEsrES]| 2
SRELRZE| R =253 1500m BRK R DNS| iR B =S 3
SRELRZE| R =253 1500m 6 | B2 B— | 417.02% RO EEEES | 3
SRELRZE| R =25 1500m 7 | FB R | 4:17.21% RO RS 3
ShELLRXE| kR =58 1500m 16 B ORHE | 45057 RO FES 3
SAELEXZE]| R =53 1500m 1 | EE £E | 409.88 R B kRl s | 2
SREGREE| R =253 1500m 4 | FF  FE | 4:15.22% R B XiRS 3
SRELRZE kR =253 1500m 3 & B | 41351% R RS 3
SRELRZE kR =253 1500m 15 Prim M | 4:46.68% R MEEBS | 3
SAEGREE| R =25 1500m 5 | &A&  Juik| 4:16.26% A EREES | 2
SRELRZE kR =253 1500m 17 | &% #EX | 5:04.62% R Bl 2
=g EXZER b =5 1500m 9 | B =X | 42643« R B LRKRES | 2
SRELRZE kR =3 1500m 11| 58 A5 | 42842% RO EREES | 1
SAELRRE| LR =58 1500m 14 | /&R BEE [ 440.69% R FIES 3
SRELLREE| LR =58 1500m 13 | £% A | 4:33.56% R\ EEEsrES]| 2
EBAEILEXZER| R =E: 1500m | 12 | KIE EESE | 4:29.55% RO LR&EES | 3
SAEREE| R =253 1500m 8 |1#EAK 1 | 421.28% R B XIRS 3
SAEGREE]| R =5 1500m 10 | % 4£F | 4.27.55% A OB| AERIEAS | 2
SRELRZE kR 22X 1500m BiE HLH DNS| ¥ # B 1
SRELRZE kR 22X 1500m EH [X5H DNS| ¥ #E | B35 | 3
SRELRZE kR 22X 1500m 8 At &€ [ 6:03.63% ¥ E FMES 3
SRELLRZE| LR 22X 1500m 11 | AR XK= 8:08.77x ¥ E | HEEES | 3
SRELRZE| kR 22X 1500m 2 | K& TEE | 5:56.05% ¥ E | EEsrEs]| 3 Q
sSRELEXE| R [ S% 1500m 1 HAt E | 5:56.04% ¥ = | tBdd= | 3 Q
BRELEXE] HE | SX 1500m | 4 [%[® ZEJy| 5:56.17* % 52 | LEHES | 1 Q
BRELEXE] HE | SX 1500m | 7 [#&l U4F | 5:56.43% ¥ £ | EiRg 2
BRELEXE] HE | SX 1500m | 5 [/NE HL AV 5:56.24% ¥ £ | BUlS 3 Q
SAERZA] LR [ X 1500m | 6 | ZJIl #EPR | 5:56.32% ¥ E | mEaaBs | | Q
BRELEXE] HE | SX 1500m | 3 | T@k 3 | 5:56.16% ¥ £ | ERS 3 Q
SRELRZE kR a2 1500m 9 |#1A ti&E | 6:14.41% ¥ = EES 3
SAEREE]| kR =2X 1500m 10 | & =4 | 6:36.58% ¥ & BRI 3
2ELRTE] kR | &% | 1500m Xfi B DNS| ¥ # | tR&ES | 2
SAERZA] LR [ X 1500m =h i DNS| ¥ %2 | tR&EES | 1




\I

SREILLRXE| Jdt =X 1500m Rk tiE DNS| ¥ & RS 3
SRELRZE| R =X 1500m 9 =% B | 5:54.15% ¥ E EVIE 1 q
SRELRZE| R =X 1500m Bk EDLH DNS| % & EEE 2
SRELRZE| R =2 1500m S fE DNS| ¥ = | tR#ES | 2
SRELRZE| R =X 1500m 10 | /Dk 002 [ 6:04.49% ¥ = RS 2
SARELEXZE]| R =2 1500m 8 | =EF k# | 5:49.18% F E | HEEES | 1 q
SRELRZE| R =2 1500m 3 | #&  #&7y | 5:46.28% ¥ E =ES 3 Q
SRELRRE| kR [SE:S 1500m 4 | =EF #ZE | 5:46.48% ¥ = [HEEyES]| 3 Q
SAELREXE]| R a2X 1500m 5 | He RkEE | 5:46.97% ¥ & Bl 3 Q
SRELRZE| R =2 1500m 7 | WA 2F | 5:47.66% ¥ E| LRI s | 2 q
SRELRZE| R =2 1500m 2 | ®E  R{E| 5:46.18% ¥ E =ES 1 Q
SRELRZE kR 22X 1500m 6 | BIA HE | 547.11% Y & | WEFEyrbEs| | Q
SRELRZE kR 22X 1500m 1 | FFE #FhZE | 5:45.03% ¥ E| LtREES | 2 Q
SRELRZE kR 22X 1500m Big XM DNS| ¥ & MRS 1
SRELRZE kR =X 1500m 1| EH  XETH | 6:1052% ¥ E | tRHEES | 1
SRELRXZE| LR 22X 1500m ¥ BE DNS| ¥ & FMES 2
2FELLRZE dt =X 1500m D DNS| ¥ = | tR&ES | 3
SRELLREE| LR 22X 1500m 9 | AIA HE | 5:3592% R B NBEmEyES]| 1
SRELRZE kR 22X 1500m 4 | =k fiZE | 5:07.54% R B | MEmEsES]| 3
SRELRZE kR 22X 1500m 3 | % #&75 | 5:04.64% R =ES 3
SRELRXZE| kR 22X 1500m 7 | AIE RE [ 5:32.50% R B =ES 1
SRELRXZE| kR 22X 1500m 1 KB TEE | 4:52.44% R\ EEEyES]| 3
SREILRTE| kR 22X 1500m 6 | ZR ETy| 527.44x R B | tREES | 1
SAEGREE]| R =B 1500m 14 | (WA EF0 | 54551% RO RIS | 2
SRELRZE kR 2% 1500m 11 | Ik =5 [ 54084x R MRS 3
SRELLREE| kR =X 1500m 15 [/NE L vh [ 5:46.35% R BOIlS 3
SRELRZE kR 2% 1500m 8 |#FE FFZE| 5:35.17% R B tREES | 2
SRELRZE kR 2% 1500m 2 HAt £ | 4.59.06% R OB | Rl s | 3
SRELRZE LR 22X 1500m 13 | 21l sEH | 5:44.66% RO | HEEBS | 1
SRELRZE kR 22X 1500m 5 | B RFrEE [ 5:27.01% R OB BAS 3
SRELRZE kR 22X 1500m 12 | = F K2 | 5:43.81% RO | MEEBS | 1
EARERZE| bR =X 1500m 10 =% B | 5:39.45% R BB BRE 1
SRELRZE LR 22X 3000m 11 | =F JKk§ |12:31.70% RO | MEEBS | 1
EARERZE| bR =X 3000m 12 =% B |12:34.61* R BB BRE 1
SRELRZE kR 22X 3000m ki & DNS| iR B E=rE 2
SAEREE]| kR =2X 3000m 1 | X& FEE [10:45.35% R\ EEEsrES]| 3
SRELEXE| R [ S% 3000m 2 A £ ]10:50.09% R OB | LRI E | 3
SRELRZE kR 2% 3000m 4 | ¥k #TH [11:13.75% R OB RS 3




SREILLRXE| Jdt =X 3000m 3 | =EH [E5H [10:51.29% E[AZEET-H EE!
SRELREE| kR [SE:S 3000m 5 | =EF #iFE [11:17.47% R B | WMEmEyES]| 3
=SRELXRXZE| R =X 3000m 7 | hiE {HFIZ | 12:01.40% R B LREES | 2
SRELRZE| R =X 3000m R ENh DNS| R Bs [ kR4S [ 1
SRELRZE| R =X 3000m 10 | A FrfE | 12:16.53% R BA= 3
SRELREE| kR [SE:S 3000m 9 | AME  H{E[12:14.48% R =ES 1
SRELRZE| R =X 3000m = EEE DNS| & B | kR 5s | 2
SRELRZE| R =X 3000m Tk =3 DNS| iR B MRS 3
ShELLRXE| kR =X 3000m 8 |FFE FnFrZ|12:03.97x R OB EEREES | 2
SRELRZE| R =2 3000m BiE XM DNS| iR B MRS 1
SRELRZE| R =2 3000m 6 |HL UEF[11:38.97* R RS 2
SAELLRRE| R ISk 3000m 14 [/NE B VAV ] 12:44.55% R B BAS 3
SRELRZE kR 22X 3000m 16 | #1E 38 | 13:05.47% R RS 3
SRELRZE kR 22X 3000m PNLE-L DNS| iR B MRS 1
SRELRZE kR 22X 3000m 13 | ZJI| 3B | 12:35.54% RO | WMEEBS | 1
SRELRZE kR 22X 3000m 15 | /Mék 042 | 12:58.12% RO Ed 2
=AEdEXER b =2X 3000m 17 | &Il EHE [13:54.27% RO HEEES | 1
SRELRZE| R 22X 3000m B XD DNS| & B | Xt R#BS | 1
SRELRZE kR =2 3000m Flll Hx DNS| R B | kR&ES | 1
SRELRZE kR 2% 3000m EF ®BE DNS| R B | kREES [ 1
SRELRXZE| kR 22X 3000m HE ¥& DNS| R B [#HxmyES| 2
SAEREE| R B2 3000m BEH #E DNS[ R B | SkR&ES [ 2
SRELRZE kR =253 5000m AME EA DNS| R B | #HEHEES [ 3
SRELRZE kR =253 5000m hZE T DNS| & B | RIS | 1
SRELRXZE| kR =253 5000m XH# R DNS| iR B RS 3
SAEGREE]| R =53 5000m | 20 A A [19:19.15% R BB EEE 2
SRELRXZE| kR =253 5000m 8 | kB K& |[16:00.59% R\ EEEsES]| 3
SRELRZE kR =25 5000m 1 EH & | 15:43.07% R OB | tR&EES | 3
SRELRZE LR =253 5000m 5 | RFE EE |15:49.27% R OB | kRS s | 2
SRELRZE kR =253 5000m BX Tk DNS| & B | tR#BS | 2
SRELRZE kR =253 5000m 4 Al 2 [15:48.54% R OB RS s | 2
SAEEEE| R =253 5000m 15 | &% 8A [17:14.70% R\ EEEsrES]| 2
SAERZA] LR [ S5 5000m | 12 [{EAK #1 |16:54.21% FW AET S 3
eAElLEXE] LR | =% [ 5000m | 9 | FEH ZE]16:31.91% N AET S 3
SRELRZE| LR =5 5000m FH —& DNS| & B FES 3
SRELRZE kR =53 5000m 16 | ERE 1#8 [17:19.56% R B EES 3
SRELRZE kR =5 5000m 17 | #HA Eth |17:53.23% R OB tEEZS | 1
SRELRZE kR =253 5000m 11 | /MR B |16:51.03% R OB FMES 3




SREILLRXE| Jdt =25 5000m ATES DNS LtREES [ 3

SRELRZE| R =25 5000m AXE [BX DNS[ R B [ dkR4aBS [ 3

SRELRZE| R =25 5000m BIE FHH DNS| iR B EVII 2

SRELRZE| R =25 5000m &t Bk DNS| & B | ARITES | 3

SRELRZE| R =25 5000m FIER $hiE DNS| & B EI=T 3

SRELRZE| R =25 5000m 18 | ¥ FEKX |17:59.65% RO MRS 3

SRELRZE| R =25 5000m =23 ## DNS| R B [ dkR+afES [ 3

SRELRZE| R =253 5000m 19 Zidm W | 18:46.15% R OB | WEEES | 3

SRELRZE| R =253 5000m 3 # 1B |15:47.96% R =S 3

SRELRZE| R =25 5000m 2 | E8 1&{E | 15:43.44% R\ EEEsrES]| 2

ShELLRXE| kR =58 5000m 6 5% ZE— |15:49.34% RO EEEES | 3

SRELRZE kR =5 5000m 7 | /PR AR [ 15:49.45% R RS 3

SRELRXZE| LR =253 5000m 10 | {k5B% SAk | 16:43.04% R OB | RS s | 2

SRELRZE kR =253 5000m S BE DNF [ 3R B FMES 2

SAEGREE| R =253 5000m 13 | WA SERL | 16:57.04% R B LRKRES | 2

SAEGRZE| R =253 5000m 14 | A K& [17:05.92% R B LRZgES | 2

2FELLRZE dt =253 5000m HBE EH DNS[ R B[ kRTES [ 3

SRELRZE kR =253 5000m =8 KE DNS| R B | HEHEES [ 2

SAEGRZE| R =2 100mH Rk £ DNS| ¥ & RS 3

SRELRXZE| LR =2 100mH Ek IR DNS| ¥ = | tR#HBS | 1

SRELRZE kR =X 100mH 2 | FIR BRX [ 18.45% ¥ E | WEEyrEE]| 2 [ 00% Q
SAEREE| R =% 100mH Bk XX TiI0[ ¥ E | kBR&KEES [ 2

SREILRTE| kR 5K 100mH 1 | dely E5&E | 18.09% ¥ E RS 1 _[0.0x Q
SRELRZE kR =X 100mH FiE SR DNS| ¥ = | tREEES | 1

SRELRZE kR =X 100mH 2 DNS| ¥ #E | B35 | 3

SREILRTE| kR B2 100mH =H FE DNS| ¥ & | HEEBES [ 2

SRELRXZE| kR =X 100mH Mr = DNS| ¥ & | HEEBES [ 2

SELLREE LR =% 100mH BAX XX DNS| ¥ & [#HEm~yrES| 1

EARERZE| bR kS 100mH 3 Xig & 17.72% ¥ E| RIS S | 1 [+0.6% q
SRELRZE| kR 2% 100mH 1 5 HF 14.94% ¥ E | tR&EES | 2 [+0.6% Q
SRELRZE| LR 2% 100mH 2 | #B8  KR#E| 1757 ¥ = RS 2 | +0.6% Q
SARELRZE| LR 2% 100mH 4 | ER Bz [ 22.11% ¥ = HES 1 |+0.6%
SFEEIEXE] kR | 5% | 100mH Bl ER DNS| ¥ & | dtRH#ES | 2

SRELRZE| LR 2% 100mH BN WE DNS| ¥ = | tEEES | 1

SRELRZE| LR 2% 100mH XE AlE DNS| ¥ # Edl 1

SAEREE]| kR 2K 100mH 3 | &M ETh| 21.80% ¥ & EES 1 [+0.2% q
SFEEIEXE] kR | 5% | 100mH hF 5 DNS| ¥ & | KRS 3

SRELRZE kR 2% 100mH 2 FK AL 17.97% ¥ E | HEEES | 3 [+0.2% Q




SREILLRXE| Jdt =X 100mH 1 K2 G# | 16.19% ¥ FE | RIS | 1 [+0.2%
SRELRZE| R =X 100mH N IR DNS| ¥ = |[HEEyES| 1
SRELRZE| R =2 100mH EH D DNS| ¥ & | tR&EES [ 1
SRELRZE| R =X 100mH 8 | %R  EJh ([ 20.64% R =ES 1 [+15%
SRELRZE| R =X 100mH 5 Aig & 17.66% RO | kBRI E | 1 [+1.5%
SRELRZE| R =2 100mH 1 5 HF 14.71% RO ERKRES | 2 [+1.5%
SRELRZE| R =X 100mH 4 [#88 Kig| 17.56% R =ES 2 [ +15%
SRELRZE| R =X 100mH 2 | RiZE {Bf [ 16.10% RO | kBRI E | 1 [+1.5%
SRELRZE| R =X 100mH 6 | deill  B5E | 17.84% R =S 1 [+1.5%
SRELRZE| R =X 100mH 7 | Tk BRX | 18.03% RO WEmysES]| 2 [+1.5%
SRELRZE| R =2 100mH 3 FIK AL 17.22% RO | WEEES | 3 [ +1.5%
SREGREE| R =5 110mH Wi = DNS| ¥ & | kR&ES [ 1
SRELRZE kR =253 110mH EH BT DNS| ¥ = | HEEES | 2
SRELLREE| LR =5 110mH 3 | &K EA [ 20.00% ¥ E| BiIFEs 3 [-1.4%
SRELRXZE| R =5 110mH 1 =H RS | 17.69% ¥ E E=RS 3 |-14x%
SRELLREE| LR =5 110mH 2 | KR ZFt [ 18.13% ¥ E (HBEEsES]| 2 [-14%
2FELLRZE dt =253 110mH Iih EE DNS| ¥ & RS 1
SRELRZE kR =253 110mH NI DNS| ¥ Z | tR@EES [ 3
SRELRXZE| LR =5 110mH A¥ IE DNS| ¥ #E | ;tRBid= | 1
SRELRXZE| LR =5 110mH =@ &) DNS| ¥ = [ tRid5s | 1
SRELRZE kR =5 110mH 5 | WO #H$ [ 21.83% ¥ E =ES 3 |-1.9%
SRELRZE kR =5 110mH 2 | R E | 1861% ¥ E | tR#EES | 1 [-1.9%
SREILRTE| kR =5 110mH 1 [BEE: 17.07% ¥ = BEE 3 | -1.9%
SRELRZE kR =253 110mH 4 | EF 3FE [ 1991x ¥ E EVI 3 [-1.9%
SAELLRRE| LR =5 110mH 3 | &R BHBH[ 18.97x ¥ E | HEEyES] 1 | -1.9%
SRELRXZE| kR =253 110mH HFE X DNS| ¥ = | tEEES | 2
SAEREE| R =253 110mH NS DNS| ¥ = | kR&ES [ 2
SRELRZE kR =5 110mH BT K DNS| ¥ = | tEEES | 2
SFEEIEXE] kR | 55 | 110mH HE  IRAE DNS| ¥ & | tEHES | 2
SRELRZE kR =253 110mH 1 [{ERKR #{E| 18.04% ¥ E[(#HBEEsES]| 3 [-1.7x
SRELRZE kR =253 110mH 2 | {EBR ThiF | 18.94% ¥ #| tR&d=s | 3 [-1.7%
ERELRXA| LR | &5 110mH K Tt DNS| ¥ & S 3
SELLREE LR =253 110mH 3 1k B 19.09% ¥ RS 3 [-1.7%
SRELRZE| LR =253 110mH 4 | X Mt | 19.50% ¥ = BT 1 [-1.7%
SRELEXE| R [ 53 110mH e DNS| ¥ ;& | tE&fEs | 3
SELLREE LR =53 110mH 6 |ZR BAEFH| 17.68* R\ EEEsES]| 1 [+2.6%
ShaltBEXE| LB = 110mH 7 k% 5 19.36% R B =ES 3 |+2.6%
SRELRZE kR =5 110mH 1 FIER 3R | 16.49% R OB BEES 3 | +2.6%




SREILLRXE| Jdt =25 110mH 4 | =W BE | 17.09% RO e 3 [+2.6%
SRELRZE| R =25 110mH 2 |fEARK FEEE| 16.52% R B | MEmEsES]| 3 [+2.6%
SRELRZE| R =25 110mH 5 | KR ZFi [ 1753« RO | HBEmEysES ]| 2 [+2.6%
SRELRZE| R =25 110mH 8 | & hiF [ 20.23x R OB | kRAed s | 3 [+2.6%
ShELLRXE| kR =58 110mH 3 | =i | 17.08% R OB | EREES | 1 [ +2.6%
SRELRZE| R =2 400mH BAX HxE DNS| ¥ = | tR#HES | 1

SRELRZE| R =X 400mH 4 | tH B | 1:24.56% ¥ = =ES 2 q
SRELRZE| R =X 400mH 2 het B8 | 1:17.57% ¥ E MRS 3 Q
SRELRZE| R =2 400mH 1 A Bt | 1:14.31% ¥ = EEE 2 Q
SRELRZE| R =2 400mH 3 | BiE  HATE [ 1:19.24% ¥ E| tR#HES | 3 Q
SRELRZE| R =X 400mH 5 | /B | 1:32.32% ¥ E BilE 3

SRELRZE kR =X 400mH Hg BX DNS| ¥ E | &tRdtds [ 1

SRELRZE kR =2 400mH WH FRE DNS| % Z [ SkR&ES [ 3

SRELRZE kR =2 400mH 3 | HiF% RRH | 1:20.97% ¥ E RS 1 Q
SRELRZE kR =X 400mH 5 | =M Eh [ 1:31.41% ¥ E RS 1

SRELRZE kR =2 400mH 1 =gk EE | 1:13.06% ¥ E| RIS | 2 Q
2FELLRZE dt =2 400mH 2 | K HE [ 1:17.17% ¥ E BEE 2 Q
SRELRZE kR =X 400mH 4 | hft BE | 1:24.87% ¥ E Bl 3 q
SRELRXZE| LR =X 400mH e KB DNS| ¥ = |HEEyES]| 2

SAEREE| R =2 400mH R DNS| ¥ = | kR&EES [ 2

SAEGREE]| R =X 400mH R tiE DNS| ¥ & RS 3

SRELRZE kR =X 400mH 7 | % BE | 1:22.18% R BAlE 3

SRELRZE kR =X 400mH 8 | 20 [ 1:26.77% R B RS 2

SRELRZE kR =X 400mH 6 i 85 1:17.28% R HRE 3

SRELRZE kR =X 400mH 3 | =Bk BEE [ 1:11.47% R OB | RS s | 2

SRELRZE kR =X 400mH 1 YN ETE | 1:08.10% R B BEE 2

SRELRZE kR =X 400mH 2 | &K F4E [ 1:10.90% R B BEES 2

SRELRXZE| kR =X 400mH 4 [ pZE BRTE | 1:14.80% R B | tREES | 3

SRELRZE| LR 2% 400mH 5 | iF%  RRER | 1:15.54% R B EES 1

EAELREE| LR | % | 400mH | 3 | FE FHH | 1:10.24% ¥ E BB 1 a
EfAE R LR [ &% | 400mH Bl & DNS| % & | MRS 1

SARELRZE| LR =253 400mH 2 ik BX [ 1:05.00% ¥ BEEES 1 Q
EAELRZE| LR | S%B | 400mH | 1 [fE4K FEEE] 1:00.23* ¥ E | WEmsbEs| 3 Q
SRELEXE| R [ 53 400mH £k Thit DNS| ¥ & | kB4t s | 3

SRELEXE| R [ 53 400mH NS RiE DNS| ¥ & | LBHEs | 1

SRELRZE| LR =53 400mH B B DNS| ¥ & EXIT= 2

SAERZE]| R =53 400mH TH JFah DNS| ¥ & | ;tREEs [ 1

SAEEZE| R =253 400mH S DNS| ¥ & | {tB#bEs | 2




SAEILRZE| dt =8 400mH 3 | &=H BEE [ 1:03.46% ¥ &= =BS5S 3 q
SRELRZE| R =25 400mH 1 AR EAK | 5856% ¥ E| tRIds | 3 Q
SRELRZE| R =25 400mH 2 | Z7H% #Ht| 1:01.77% ¥ = [HEEyES]| 3 Q
SRELRZE| R =5 400mH 5 | AE FiF [ 1:12.409% ¥ = MRS 1
SRELRZE| R =25 400mH 4 | EX B/ | 1:11.15% ¥ E EEE 1
SRELRZE| R =253 400mH NN DNS| ¥ Z | tR#EES [ 3
SRELRZE| R =253 400mH INFR ER— DNS| ¥ = | tR&ES | 3
SRELRZE| R =253 400mH EL RE DNS| % & EXIT= 3
SRELRZE| R =25 400mH T EA DNF|[ % 3= MRS 1
SRELRZE| R =25 400mH LE N DNS| ¥ Z# | tR#ES | 2
SRELRZE| R =253 400mH #0O DNF| ¥ = FES 3
SRELRZE kR =5 400mH 1 FE B3k | 1:04.06% ¥ E RS 3 Q
SRELRZE kR =5 400mH 2 | KR ZFiH | 1.0461% ¥ E | MEEsrEs]| 2 Q
SRELRZE kR =5 400mH IRT Ik DNS| ¥ & | tREES [ 1
SRELRZE kR =5 400mH It BHE DNS| ¥ Z | tR&EES [ 2
SRELRZE kR =5 400mH 6 | =H BHE [ 1:01.47% R =ES 3
2FELLRZE dt =253 400mH 8 | F&E ZHHE | 1:09.64% R RS 1
SRELRZE kR =253 400mH 2 | AR RX [ 57.06% RO | kR3S | 3
SRELRZE kR =5 400mH 5 |7ZHB% #hth| 1:01.10% R B | MEmEsES]| 3
SRELRZE kR =5 400mH 1 [{E&RK #{E| 56.25+ R B | MEmEsES]| 3
SRELRZE kR =5 400mH 4 | Fl& &3 | 1:00.80% R B RS 3
SRELRZE kR =5 400mH 3 ik BR [ 59.64x% R B BES 1
SRELRZE kR =5 400mH 7 | KR ZFtH [ 1:04.26% R B MEEyES]| 2
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